

Page 1 of 1

Florida Department of Transportation



Letting:

Vendor Ranking

Call Order: 008 E20K8-R0 Contract:

May 12, 2021 11:00 AM Counties: DIST/ST-WIDE, DIXIE, Fed Aid No: N/A District: District 2

GILCHRIST, LEVY **Project(s):** 44648627201 (*) 365 CALENDAR DAYS **Contract Time:**

Contract Desc: BDI contract to remove trees, stumps, debris, & trim trees

02210512

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	WD GARDNER LLC	Responsive	Winning bid	\$59,268.00	100.00%
2	CLEAR ZONE MAINTENANCE, INC.	Responsive	Non-Winning Bid	\$64,524.00	108.87%
3	ALROD LOGISTICS, INC.	Responsive	Non-Winning Bid	\$81,000.00	136.67%
4	ABSOLUTE TREE AND ASSET SERVICES, LLC	Responsive	Non-Winning Bid	\$88,072.00	148.60%
5	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$94,125.00	158.81%
6	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$143,400.00	241.95%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

Letting: 02210512 May 12, 2021 **Call Order:** 008 **Contract:** E20K8-R0

District: District 2 Counties: DIST/ST-WIDE, DIXIE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS GILCHRIST, LEVY Project(s): 44648627201 (*)

Contract Descr: BDI contract to remove trees, stumps, debris, & trim trees

This is a Business Development Initiative Contract to remove trees, stumps, debris and trim trees on an as needed basis by the Department in the Chiefland Maintenance area. RENEWAL OPTION. BID EXPRESS MANDATORY.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at:

https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at: http://www.cmdp-bgp.com/bdi-projects.html

Pregualification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

A Contract Bond is not required for contracts \$250,000.00 and less.

Line No / Item ID Al	Iternate Quantity Units	(1) WD GARDNER LLC		(2) CLEAR ZONE MAINTENANCE, INC.		(3) ALROD LOGISTICS, INC.	
() indicates item is bid as Lum	np Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 E101 72 MOBILIZATION (EMERGENC RESPONSE)	5.000 Y EA	1.00000	5.00	1,000.00000	5,000.00	250.00000	1,250.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	02	2210512	May 12, 2021	Cal	II Order: 008		Contract:	E20K8-R0	
	o / Item ID escription	Alternate	e Quantity Units	(1) WD GAR	DNER LLC	(2) CLEA MAINTENA		(3) ALROD LO	OGISTICS, INC.
() indica	ates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
	580332 21 MOVAL (4" T	⁻ O 12")	100.000 EA	100.00000	10,000.00	140.00000	14,000.00	125.00000	12,500.00
	580332 22 MOVAL (13"	TO 24")	155.000 EA	260.00000	40,300.00	200.00000	31,000.00	275.00000	42,625.00
	580332 23 MOVAL (25"	TO 36")	10.000 EA	1.00000	10.00	75.00000	750.00	300.00000	3,000.00
	580332 24 MOVAL (37"	TO 48")	5.000 EA	1.00000	5.00	1.00000	5.00	350.00000	1,750.00
	580332 25 MOVAL (> 48	3")	4.000 EA	1.00000	4.00	1.00000	4.00	500.00000	2,000.00
0035 E	580332 97 MMING		63.000 EA	140.00000	8,820.00	175.00000	11,025.00	25.00000	1,575.00
	580334 1 RINDING (4	" TO 24")	100.000 EA	1.00000	100.00	25.00000	2,500.00	125.00000	12,500.00
	580334 2 RINDING (2	5" TO 48")	20.000 EA	1.00000	20.00	10.00000	200.00	150.00000	3,000.00
	580334 3 RINDING (>	48")	4.000 EA	1.00000	4.00	10.00000	40.00	200.00000	800.00



05/21/2021

Tabulation of Bids

Page 3 of 6

Letting:	02210512	May 12, 2021	C	all Order: 008		Contract:	E20K8-R0	
Line No / Ite		ate Quantity Units	(1) WD GA	RDNER LLC	• •	AR ZONE ANCE, INC.	(3) ALROD I	LOGISTICS, INC.
() indicates ite	m is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(TREE TRIMMI	NG AND REMOV	/AL (MH				
0001 TREE TRIMMING AND Section Totals: REMOVAL (MH)			\$59,268.00			\$64,524.00	\$81,000.00	
						.		
	Contract	Grand Totals:		\$59,268.00		\$64,524.00		81,000.00





Tabulation of Bids

Page 4 of 6

Lettin	g : 02	2210512	May 12, 2021	Cal	II Order: 008		Contract:	E20K8-R0	
	No / Item ID Description	Alterna	te Quantity Units	(4) ABSOLUT ASSET SER		(5) AIRBOAT A	ADDICTS, INC.		VESTERN CTION, INC
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 MOBILI RESPO	E101 72 ZATION (EME NSE)	RGENCY	5.000 EA	711.00000	3,555.00	1,500.00000	7,500.00	1,000.00000	5,000.00
0010 TREE F	E580332 21 REMOVAL (4" 7	ГО 12")	100.000 EA	111.00000	11,100.00	150.00000	15,000.00	300.00000	30,000.00
0015 TREE F	E580332 22 REMOVAL (13"	TO 24")	155.000 EA	233.00000	36,115.00	175.00000	27,125.00	450.00000	69,750.00
0020 TREE F	E580332 23 REMOVAL (25"	TO 36")	10.000 EA	377.00000	3,770.00	250.00000	2,500.00	500.00000	5,000.00
0025 TREE F	E580332 24 REMOVAL (37"	TO 48")	5.000 EA	977.00000	4,885.00	500.00000	2,500.00	1,000.00000	5,000.00
0030 TREE F	E580332 25 REMOVAL (> 4	8")	4.000 EA	977.00000	3,908.00	1,500.00000	6,000.00	1,000.00000	4,000.00
0035 TREE T	E580332 97 RIMMING		63.000 EA	57.00000	3,591.00	100.00000	6,300.00	150.00000	9,450.00
0040 STUMP	E580334 1 GRINDING (4	" TO 24")	100.000 EA	57.00000	5,700.00	150.00000	15,000.00	100.00000	10,000.00
0045 STUMP	E580334 2 GRINDING (2	5" TO 48")	20.000 EA	577.00000	11,540.00	450.00000	9,000.00	200.00000	4,000.00



05/21/2021

Tabulation of Bids

Page 5 of 6

Letting:	02210512	May 12, 2021	Cal	II Order: 008		Contract:	E20K8-R0		
Line No / Ite		ate Quantity Units	(4) ABSOLUT ASSET SER		(5) AIRBOAT A	DDICTS, INC.	• •	VESTERN ICTION, INC	
() indicates ite	em is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECT	SECTION: 0001 (TREE TRIMMING AND REMOVAL (MH								
0050 E5803: STUMP GRINDI		4.000 EA	977.00000	3,908.00	800.0000	3,200.00	300.00000	1,200.00	
0001 TREI	E TRIMMING AND REMOVAL (MH)			\$88,072.00 [°]		\$94,125.00 [°]		\$143,400.00	
	Contract	Grand Totals:		\$88,072.00		\$94,125.00		143,400.00	



05/21/2021

Tabulation of Bids

Page 6 of 6

Letting: 02210512

May 12, 2021

Call Order: 008

Contract:

E20K8-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.